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1 100kN/mM#%#B x5 - -~ - —|3mZEEZD — — - —| 100kN/ Mm% % % — -~ - —|3mZE#ZD -~ — - -
zhs - -~ - —| Fhst - — - - zh s — - ~ - —| Fhst -~ — - —
9 100kN/mM#%#B x5 - -~ - —|3mZEEZD — — - —| 100kN/ Mm% % % — -~ - —|3mZE#ZD -~ — - -
zhs - -~ - —| Fhst - — - - zh s — - ~ - —| Fhst -~ — - —
3 100kN/mM#%#B x5 - -~ - —|3mZEEZD — — - —| 100kN/ Mm% % % — -~ - —|3mZE#ZD -~ — - -
zhs 1.00 | 0.00 ~ 490 61.02 | ZhList | 0.00 490 | 1.88 9.48 zh s 1.00] 500 ~ 540 61.02 | ZHL st | 500 ~ 540 1.88 9.48
4 100kN/mM#%#B x5 - -~ - —|3mZEEZD — — - —| 100kN/ Mm% % % — -~ - —|3mZE#ZD -~ — - -
zh s 1.00| 000 ~ 6.70 84.60 | ZhList | 0.00 6.70 | 1.98 9.98 zhs 1.00] 500 ~ 9.00 8460 | ZHLLUst | 500 ~ 9.00 | 1.98 9.98
5 100kN/mM#%#B x5 - -~ - —|3mZEEZD — — - —| 100kN/ Mm% % % — -~ - —|3mZE#ZD -~ — - -
zh s 1.00 | 0.00 ~ 4.77 5941 | ZhLlist | 0.00 0.00 | 1.69 8.56 zh s 1.00] 500 ~ 5.00 5941 | Zh st | 500 ~ 500 | 1.69 8.56
100kN/mM%#BZ % ~ InFRBRD 100kN/mM%#BZ % ~ InFRBRD ~
zhs ~ zhnLst zhs ~ zhnLst ~
100kN/mM#%#BZ % ~ InFRBRD 100kN/mM%#BZ % ~ InFRBRD ~
zhs ~ zhnLst zhs ~ zhnLst ~
100kN/mM%#BZ % ~ InFRBRD 100kN/mM%#BZ % ~ InFRBRD ~
zh s ~ zhnLst zhs ~ zhnLst ~
100kN/mM#%#BZ % ~ InFRBRD 100kN/mM#%#BZ % ~ InFRBRD ~
zhs ~ zhnLst zhs ~ zhnLst ~
100kN/mM#%#BZ % ~ InFRBRD 100kN/mM%#BZ % ~ InFRBRD ~
zhs ~ zhnLst zhs ~ zhnLst ~
100kN/mM#%#BZ % ~ InFRBRD 100kN/mM%#BZ % ~ InFRBRD ~
zhs ~ zhnLst zhs ~ zhnLst ~
100kN/mM#%#BZ % ~ ImFRBRD 100kN/mM#%#BZ % ~ InFRBRD ~
zhs ~ zhnLst zhs ~ zhnLst ~
100kN/mM#%#BZ % ~ InFRBRD 100kN/mM#%#BZ % ~ InFRBRD ~
zhs ~ zhnLst zhs ~ zhnLst ~
100kN/mM%#BZ % ~ InFRBRD 100kN/mM#%#BZ % ~ ImFRBRD ~
zh s ~ zhnLs zh s ~ s ~
100kN/mM%#B 2% ~ InFRBRD 100kN/mM#%#BZ % ~ InFRBRD ~
Zzh s ~ st Zzh s ~ st ~
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